= {1, 2, 3} °|| thot] o F X oAl

® flx)=x*+x+1 @ f(x)=x>+2
@ fx)=1x>+x+1



ol

27}

@ y=—Ix

D y=-x?

@ y=-2x-1

®y=3

2x-2(x>1)

®y=



3. ¥

ek

2 f(x) =x+2, g(x) = 2x— 19 tate] (go £)(1) Q] 22

D 1 ® 3 3 5 @ 7 ®B 9



4.

x—=2

3x—1

2x2 - 5x+3

R
=

2x2 +x-6



@ 2 ® 3 @ 4 ® 5

D1



6. x—3x+1_0°ﬂ/‘1x+ 4%I~ oFH?

e
=%



= D o1n ae) gt et



S22} 3 0] HE% 0 9] 32 Hohu?



x+ | x| 9 2 EE?

Ty=

SH
=

e %

9.




_ 2
2x—1  3x +4x+2§:—71}%6] 59

x—1  xZ+x
x+2 x—2
@ SRy
x—2

x(x—1)




54 S = 2 MEATE A AAS abco] Dot

a® 4+ b + ¢ 9] g2 Fstof=t

 E:
=%



12. 2x—y9] x4yl tﬂ@ﬂ]ﬂ%m o, x 9] yol tigk 1=

® 11 @ ®

3 e

@

Ul >~

@

o] —

| ot



2a +b
— —ua

13. 6+ V202 A4 BES ¢, 24 FEE petal T o,
o] Zhe9
® 13+6vV5 @ 13-65 ® 13+3vV5

@ 19-35 3 19+ 35



4a

14. 0<a<2°]ilx= 2 o

a’+4
VI + VI—x 9] HAgS oo,

B =
=%




15. 8 a,b7t S 5 218 5T o, p o] 3122
(+\/_3+b\/_) -3(1+ V3)
D -3 ® -2 B -1 @ 2 B 3




16.

. ax+b o] J#jmst A (1, 0) &
@_Ty_ x+c

2,y=1¢% 1, abc ] & Fotoiet.
x =

YR
t



17.

y = —Vax+b+ c2 o] /o] o}y
DU} S W, a+ b+ F2?

o0 ®©1 ®2 @3 G4

Y



18. 4% 2A0 AgelA Aolm g 7 (2

f(2x+1) & FoFH?

D x-1 @ 2x-2 ® 4x-2
@ 6x-3 ® 8 -3






20.

T Zx2Ap: 24y <4, q:x|+|y-al<1o g5t ¢g=
At FEZAL off, ¢ 9] ghe] WY& FotH?
D -1<a<l1 @ -2<a<? ® -2<a<l

@ -1<a<1 B —2<a<?2

pel7l



21.

ol Ath GAIoNA A2 2197 5 550 o]

HES S ¢ 5, AR WS b T g

H7b3 c 22t o, & A A 4

D 1200 ® 1250 3 1300

SH
=]

25hH9

@ 1350

23

@_

ek A g7el

2pe] o]

B 1400



ol

o0

™M |

@1



23. A% AA ) AN oA N 0z T £ B

n o] HilA0l
I - FE)
n+1 (no] 29] =7} ofd wj)
F=FS fef=1% fofi=f5 -, fofr =+ 22 yehd
o, f4(10) = 2 & TEshe A 4 ALk (&, n e AdS

~



A A =1{1, 2, 3} oAl A 2] §
1, 2, 3) o] Aote= AL MeE?

@D 37 @ 574 ® 9 7}

s £ oA 20— f(x) € Ax =

@ 18 7§ ® 24 7



25.

Fe f(x) = 2x+50°] Higtod f2 =

o, ;L_!‘ nOl'

ol-gated f7(5) 9l gh=

v
o

75.3,4 skt ol o, f"(x) & F78

fof. f?

Tatoiat

=f20f, e
SFIL 142422423 42" =

fn+1

=flof

27+l -1



